
M6500B
ITEM PARTNO. DESCRIPTION  ราคาตั Ѹง

1 766021-9 DERILL CHUCK 6.5 460
6 141950-1 GEAR COMPLETE 530
7 214043-8 PLANE BEARING 5 60
8 210062-2 BALL BEARING 607ZZ 130
9 240142-0 FAN 44 100
10 515873-3 ARMATURE ASS'Y 220V
11 210030-5 BALL BEARING 627ZZ 150
12 593808-4 FIELD ASS'Y 220V
14 643566-3 BRUSH HOLDER 5X8
15 B-80254 CARBON BRUSH SET CB-64A
16 183B35-9 HOUSING SET 550
18 183B35-9 HOUSING SET 550
20 266326-2 TAPPING SCREW 4X18 30
21 650235-9 SWITCH FA1-6/1B-3 180
24 266326-2 TAPPING SCREW 4X18 30
25 687124-5 STRAIN RELIEF 70
26 682569-2 CORD GUARD 8-85 110
27 691284-7 POWER SUPPLY CORD 0.75-2-2.0 290
A01 418198-3 KEY HOLDER 9 60
A02 763449-2 CHUCK KEY S6

M6501B
ITEM PARTNO. DESCRIPTION  ราคาตั Ѹง

1 766021-9 DRILL CHUCK 6.5 460
6 141951-9 GEAR COMPLETE 530
7 214043-8 PLANE BEARING 5 60
8 211382-7 BALL BEARING 607ZZ 120
9 240142-0 FAN 44 100
10 515878-3 ARMATURE ASS'Y 220V
11 210050-9 BALL BEARING 627ZZ 120
12 633813-0 FIELD 220V
14 643566-3 BRUSH HOLDER 5X8 30
15 B-80282 CARBON BRUSH SET CB-85A
16 183F77-7 HOUSING SET 710
18 183F77-7 HOUSING SET 710
20 265652-6 TAPPING SCREW 4X18 30
21 650551-9 SWITCH FA1-3/2BEZ-4 670
24 265652-6 TAPPING SCREW 4X18 30
25 687124-5 STRAIN RELIEF 70
26 682569-2 CORD GUARD 8-85 110
27 691284-7 POWER SUPPLY CORD 0.75-2-2.0 290
A01 418198-3 KEY HOLDER 9 60
A02 763449-2 CHUCK KEY S6 110

M6500B / M6501B

Oc t  2022


